FORM NO. MGT-7

[Pursuant to sub-Section(1) of section 92 of the Companies Act, 2013 and sub-rule (1) of rule 11of the Companies (Management and Administration) Rules, 2014]



Annual Return

(other than OPCs and Small Companies)

Form language	English	Hindi
Refer the instruc	tion kit for fil	ing the form.

* Corporate Identific	ation Number (CIN) of the company	U74999CH2003PLC026455			
Global Location N	umber (GLN) of	the company				
Permanent Accou	nt Number (PA	N) of the company	AAACL9140M			
(a) Name of the co	mpany		LUDI	HIANA COMMODITIES TRA		
(b) Registered office address						
SCO 142-143, 4th F Cabin No. 111, Sec CHANDIGARH Chandigarh Chandigarh	tor 34 A	E-				
(c) *e-mail ID of the	company		Iseco	mmodities@gmail.com		
(d) *Telephone num	ber with STD o	ode	01614	4620396		
(e) Website			www	.ludhianacommodities.cc		
Date of Incorpora	ation		14/10	0/2003		
Type of the Cor	npany	Category of the Company		Sub-category of the Company		
Public Co	mpany	Company limited by s	nares	Indian Non-Government compa		
hether company is	having share ca	apital	Yes	○ No		
Whether shares list	ed on recognize	d Stock Exchange(s)	Yes	No		
(b) CIN of the Regis	trar and Transf	er Agent	U6712	ODL1993PTC052486		
Name of the Regist	rar and Transfe	er Agent		12032100		

Reg	gistered office	address of the	Registrar and Tra	nsfer Agents				
		4, LOCAL SHOPPI UKH DAS MAND						
i) *Fina	ancial year Fr	om date 01/04/	2020	(DD/MM/YY	YY) To date	31/03/2021	(DD/	MM/YYYY)
i) *Wh	ether Annual	general meeting	(AGM) held	0	Yes ⊕	No		
(a) I	f yes, date of	AGM [
(b) [Due date of A	эм [
		xtension for AG	and the second s		Yes	No		
			1357965777					
		to be held on 24.	09.2021 IVITIES OF TH	HE COMP/	ANY	•		
PRIN	umber of bus	SINESS ACT		Business		of Business Activi	ity	% of turnove
PRIN *N	CIPAL BUS	SINESS ACT	IVITIES OF TH			• of Business Activi	ity	% of turnove of the company
PRIN *N	umber of bus Main Activity	SINESS ACT ness activities Description of M	IVITIES OF TH	Business Activity	Description o	of Business Activi		of the
PRIN *N S.No 1 PART INCL	Main Activity group code K CICULARS UDING JO Impanies for	Description of M Financial and i	IVITIES OF THE	Business Activity Code K8	Description of Other	er financial activiti	ies	of the company

Page 2 of 15

(i) *SHARE CAPITAL

(a) Equity share capital

Particulars	Authorised capital	Issued capital	Subscribed capital	Paid up capital
Total number of equity shares	2,500,000	2,119,275	2,119,275	2,119,275
Total amount of equity shares (in Rupees)	25,000,000	21,192,750	21,192,750	21,192,750

Number of classes

1	
1	

Class of Shares	Authorised capital	Issued capital	Subscribed capital	Paid up capital
Number of equity shares	2,500,000	2,119,275	2,119,275	2,119,275
Nominal value per share (in rupees)	_10	10	10	10
Total amount of equity shares (in rupees)	25,000,000	21,192,750	21,192,750	21,192,750

(b) Preference share capital

Particulars	Authorised capital	Issued capital	Subscribed capital	Paid-up capital
Total number of preference shares	0	0	0	0
Total amount of preference shares (in rupees)	0	0	0	0

Number of classes

	## PASSES ## PAS	
86		

(c) Unclassified share capital

Particulars	Authorised Capital
Total amount of unclassified shares	0

(d) Break-up of paid-up share capital

Class of shares	No	Number of shares			Total Paid-up amount	Total premium
Equity shares	Physical	DEMAT	Total	erily V		
At the beginning of the year	1,191,269	928,006	2119275			

			415.1				
Increase during the year	0	21,840	21840	0	0	0	
i. Pubic Issues	. 0	0	0	0	0	0	
ii. Rights issue	0	0	0	0	0	0	
iii. Bonus issue	0	0	0	0	0	0	
iv. Private Placement/ Preferential allotment	0	0	0	0	0	0	
v. ESOPs *	0	0	0	0	0	0	
vi. Sweat equity shares allotted	0	0	0	0	0	0	
vii. Conversion of Preference share	0	0	0	0	0	0	
viii. Conversion of Debentures	0	0	0	0	0	0	
ix. GDRs/ADRs	0	0	0	0	0	0	
x. Others, specify						-	
Demat during the year [♣]		21,840	21840				
Decrease during the year	21,840	0	21840	0	0	0	
i. Buy-back of shares	0	0	0	0	0	0	
ii. Shares forfeited	0	0	0	- 0	0	0	
iii. Reduction of share capital							
iv. Others, specify							
Demat during the year	21,840		21840				
At the end of the year	1,169,429	949,846	2119275	0	0		
Preference shares	•						
At the beginning of the year	0	0	0	0	0		
Increase during the year	0	0	0	0	0	0	
. Issues of shares	0	0	0	0	0	0	
i. Re-issue of forfeited shares	0	0	0	0	0	0	
ii. Others, specify							
Decrease during the year							
Redemption of shares	0	0	0	0	0	0	
	0	0	0	0	0	0	

ii. Shares forfeited			0	0	0		0	0	0
iii. Reduction of share cap	tal		0	0	0		0	0	0
iv. Others, specify									
At the end of the year			0	0	0		0	0	
SIN of the equity shares	of the company						INE0:	20201019	
(ii) Details of stock spl	it/consolidation	n during the	year (for	each class of	shares)		0		
Class o	f shares		(i)	(ii	i)		(i	ii)
Before split /	Number of	shares							· · · · · · · · · · · · · · · · · · ·
Consolidation	Face value p	er share				•			
After split /	Number of	shares							
Consolidation	Face value p	er share							
of the first return a Nil [Details being proven					Yes •		C) Not Appl	icable
Separate sheet att	ached for deta	ils of transfe	ers		Yes 💿) No			
Note: In case list of trans Media may be shown.	sfer exceeds 10	, option for	submissior	n as a separate			or sub	mission in a	a CD/Digital
Date of the previous	annual gener	al meeting	2	1/11/2020					
Date of registration	of transfer (Da	ite Month Y	'ear) 3	1/07/2020					
Type of transfe	r Equi	ty Shares 1	- Equity	, 2- Preferenc	ce Shares,	3 - De	bentur	res, 4 - Sto	ock
Number of Shares/ [Units Transferred	Debentures/	18,420		Amount pe Debenture	er Share/ e/Unit (in R	(s.)			

Ledger Folio of Trai	nsferor 81		
Transferor's Name	Gupta	Chand	Krishan
	Surname	middle name	first name
Ledger Folio of Tran	nsferee 171		
Transferee's Name	Goyal		Kunal
Surname		middle name	first name
Type of transfe	r Equity Shares 1 - E	31/07/2020 Equity, 2- Preference Shares,	3 - Debentures, 4 - Stock
Number of Shares/ E Units Transferred	Debentures/ 18,420	Amount per Share/ Debenture/Unit (in R	s.) 0
Ledger Folio of Trans	sferor 160	I	
Transferor's Name∗	Singh		Harbhajan
	Surname	middle name	first name
Ledger Folio of Trans +	feree		
Transferee's Name			Ashok kumar HUF
	Surname	middle name	first name
Date of registration of	transfer (Date Month Year)		
Type of transfer	1 - Eq	uity, 2- Preference Shares,3	- Debentures, 4 - Stock
umber of Shares/ De nits Transferred	bentures/	Amount per Share/ Debenture/Unit (in Rs.)	

Transferor's I	Name							•			
		Surn	ame		m	iddl	e name			first name	
Ledger Folio	of Transferee							3			
Transferee's	Name	•									
		Surn	ame		m	iddl	e name			first name	
(iv) *Debentu			Number of			mir	nal value	per	Total val	ue	7
on-convertible de	bentures			0					Ÿ.	0	
artly convertible o	lebentures			0						0	
ully convertible de	ebentures			0						0	
otal										0	
Details of debe											J
ass of debentur	•	Outsta the be year	anding as at eginning of the	Increa year	ase during t	he	Decrease year	during the		of the year	
n-convertible d			0		0			0		0	
rtly convertible			0		0			0		0	
lly convertible o	debentures		0		0			0 •		0	
Securities (oth	ner than shares	s and d	ebentures)						0		
pe of curities	Number of Securities		Nominal Valu each Unit	e of	Total No Value	min		Paid up V each Unit		Total Paid	ıp Val
											#
tal			•								

Page 7 of 15

	_			
111		rn	~	IOF
111	Tu		UV	4
1-1	10000	-	_	

4,500,850.92

(ii) Net worth of the Company

32,568,688.5

VI. (a) *SHARE HOLDING PATTERN - Promoters

S. No.	Category	Equi	ty	* Preference		
		Number of shares	Percentage	Number of shares	Percentage	
1.	Individual/Hindu Undivided Family					
	(i) Indian	976	0.05	0		
	(ii) Non-resident Indian (NRI)	0	0	0		
	(iii) Foreign national (other than NRI)	0	0	0		
2.	Government					
	(i) Central Government	0	0	0		
	(ii) State Government	0	0	0		
	(iii) Government companies	0	0	0		
3.	Insurance companies	0	0	0		
4.	Banks	0	0	0		
5.	Financial institutions	0	0	0		
6.	Foreign institutional investors	- 0	0	0		
7.	Mutual funds	0	0	0		
8.	Venture capital	0	0	0		
9.	Body corporate (not mentioned above)	0	0	0		
10.	Others	0	0	0		
	Total	976	0.05	0	0	

Total 1	number	of	shareholders	(promoters))
---------	--------	----	--------------	-------------	---

		100		
8				
0				

(b) *SHARE HOLDING PATTERN - Public/Other than promoters

S. No. Category		Equi	Preference		
		Number of shares	Percentage	Number of shares	Percentage

1.	Individual/Hindu Undivided Family				
	(i) Indian	1,897,259	89.52	0	
	(ii) Non-resident Indian (NRI)	0	0	0	
	(iii) Foreign national (other than NRI)	0	0	0	
2.	* Government	W		•	
	(i) Central Government	0	0	0	
	(ii) State Government	0	0	0	
	(iii) Government companies	0	0	0	
3.	Insurance companies	0	0	0	
4.	Banks	0	0	0	
5.	Financial institutions	0	0	0	
6.	Foreign institutional investors	0	0	0	
7.	Mutual funds	0	0	* 0	
8.	Venture capital	0	0	0	
9.	Body corporate (not mentioned above)	221,040	10.43	0	
10.	Others	0	0	0	
	Total	2,118,299	99.95	0	0

124

Total number of shareholders (other than promoters)

Total number of shareholders (Promoters+Public/

Other than promoters)

VII. *NUMBER OF PROMOTERS, MEMBERS, DEBENTURE HOLDERS (Details, Promoters, Members (other than promoters), Debenture holders)

Details	Promoters), Dependare holders)					
Details	At the beginning of the year	At the end of the year				
Promoters	8	8				
Members (other than promoters)	116	116				
Debenture holders	0 _	0				

VIII. DETAILS OF DIRECTORS AND KEY MANAGERIAL PERSONNEL

(A) *Composition of Board of Directors

Category ,	Number of beginning	directors at the g of the year	Number of di of t	rectors at the end he year	Percentage of shares held by directors as at the end of year	
	Executive	Non-executive	Executive	Non-executive	Executive	Non-executive
A. Promoter	0	0	0	0	0	0
B. Non-Promoter	0	10	0	8	0	6.09
(i) Non-Independent	0	8	0	8	0	6.09
(ii) Independent	0	2	0	0	0	0
C. Nominee Directors representing	0	0	0	0	0	0
(i) Banks & FIs	0	0.	0	0	0	0
(ii) Investing institutions •	0	0	0	0	0	0
(iii) Government	0	0	0	0	0	0
(iv) Small share holders	0	0	0	0	0	0
(v) Others *	0	0	0	0	0	0
Total	0	10	0	8	0	6.09

Number of Directors and Key managerial personnel (who is not director) as on the financial year end date 8

8

(B) (i) *Details of directors and Key managerial personnel as on the closure of financial year

Name	DIN/PAN	Designation	Number of equity share(s) held	Date of cessation (after closure of financial year : If any)	
SH. TRIBHAWAN SING	00494576	Director	18,420		
SH. DHEERAJ GHAI	02832228	Director	18,420		
SH. SANJEEV GUPTA	00412914	Director	18,420	•	
SH. ARJAN DASS GOY	00467327	Director	18,420	100	
SH. HARI KRISHAN PL	01478782	Director	18,420		
SH. BALDEV RAJ KALF	01802855	Director	245		
SH. RAJAN BEDI	02834734	Director	18,420		

Name	DIN/PAN Designatio		Number of equity share(s) held	Date of cessation (after closure of financial year : If any)
SH. PANKAJ KUMAR C	07612663	Director	18,420	

(ii) Particulars of change in director(s) and Key managerial personnel during the year

Name	DIN/PAN		Date of appointment/ change in designation/ cessation	Nature of change (Appointment/ Change in designation/ Cessation)
SH. KANWALPREET S	00266474	Director	07/09/2020	CESSATION
SH. RAJINDER MOHAN	00962515	Director	07/09/2020	CESSATION

IX. MEETINGS OF MEMBERS/CLASS OF MEMBERS/BOARD/COMMITTEES OF THE BOARD OF DIRECTORS

A. MEMBERS/CLASS /REQUISITIONED/NCLT/COURT CONVENED MEETINGS

Number of meetings held	1	•			
Type of meeting	Date of meeting	Total Number of Members entitled to	Attendance		
		attend meeting	Number of members attended	% of total shareholding	
ANNUAL GENERAL MEETI	21/11/2020	124	8	6.45	

B. BOARD MEETINGS

*Number of meetings held 7

S. No.	Date of meeting	Total Number of directors associated as on the date				
		of meeting	Number of directors attended	% of attendance		
1	23/05/2020	10	6	60		
2	28/05/2020	10	5	50		
3	21/08/2020	10	7	70		
4	21/10/2020	8	6	75		
5 *	12/11/2020	8	7	₹ 87.5		
6	19/12/2020	8	8	100		
7	27/03/2021	8	7	87.5	•	

C. COMMITTEE MEETINGS

S. No.	Type of meeting	Data (ii	Total Number of Members as		Attendance
	ŭ	Date of meeting	on the date of the meeting	Number of members attended	% of attendance
1			•		

		Board Meetings			С	Whether attended AGM		
S. No.	Name of the director	Number of Meetings which director was entitled to	Number of Meetings attended	% of attendance	Number of Meetings which director was entitled to	ch Number of • Meetings attended	% of attendance	held on
		attend			attend			(Y/N/NA)
								(
1	SH. TRIBHAW	7	7	100	0	0	0	
.2	SH. DHEERA.	7	7	100	0	0	0	
3	SH. SANJEEV	7	6	85.71	0	0	0	
4	SH. ARJAN D.	4 7	3	42.86	0	0	0	
5	SH. HARI KRI	7	4	57.14	0	0	0	
6	SH. BALDEV I	7	6	85.71	0	0	0	
7	SH. RAJAN BI	7	6	85.71	0	0 •	0	
8	SH. PANKAJ I	7	6	85.71	0	0	0	

X. *REMUNERATION OF DIRECTORS AND KEY MANAGERIAL PERSONNEL

☐ Nil

Number of Managing Director, Whole-time Directors and/or Manager whose remuneration details to be entered

0

S. No.	Name	Designation	Gross Salary	Commission	Stock Option/ Sweat equity	Others	Total Amount
1							0
	Total						

Number of CEO, CFO and Company secretary whose remuneration details to be entered

0

S. No.	Name	Designation	Gross Salary	Commission	Stock Option/ Sweat equity	Others	Total Amount
1							0

S. No.	Name	Designation	Gross Salary	Commissio	Stock Option/ Sweat equity	Others	Total Amount
Total							
umber of other di	rectors whose rem	nuneration deta	ails to be entered			0	
S. No.	Name [Designation	Gross Salary	Commissio	Stock Option/ Sweat equity	Others	Total Amount
1	•						0
Total							
B. If No, give re	the Companies Adasons/observation	s			Yes	○ No	
lame of the ompany/ directors fficers	NALTIES / PUNIS Name of the co concerned Authority		Name Order section	e of the Act and in under which ised / punished	Details of penalty/ punishment	Details of appeal (including present s	if any) status
•					•		
) DETAILS OF C	OMPOUNDING O	F OFFENCES	☐ Nil	0			
ame of the ompany/ directors, ficers	Name of the co concerned Authority	urt/ Date of (section	e of the Act and on under which ce committed	Particulars of offence	Amount of compo Rupees)	อนnding (in
III. Whether com	•	holders, debe	enture holders h	as been enclos	ed as an attachmen	t	
	OF SUB-SECTION						
case of a listed corre, details of com	ompany or a comp ipany secretary in	any having pa whole time pra	id up share capit actice certifying th	al of Ten Crore r ne annual return	upees or more of turn in Form MGT-8.	nover of Fifty Crore	rupees or
Name							

Whether associate or fellow	○ A	ssociate O Fe	ellow				
. Certificate of practice number							
I/We certify that: (a) The return states the facts, as they (b) Unless otherwise expressly stated to Act during the financial year.	stood on the da o the contrary e	ate of the closure c elsewhere in this R	of the financial yea leturn, the Compa	r aforesaid co ny has compli	rrectly ar ed with a	nd adequately. all the provision	s of the
		Declaration					
I am Authorised by the Board of Directo	ors of the compa	anv vide resolution	nno [00		_41		,
(DD/MM/YYYY) to sign this form and de	eclare that all th	o roquiromente ef				21/10/2020 made thereund	ler
Whatever is stated in this form	and in the atta	chments therete is	true correct and	illed with. I fur	ther decl	are that:	
	mae been ouppi	cosed of concean	ed and is as per th	ie originai reco	ords mai	ntained by the	to company.
- 7 in the required attachments ha							
Note: Attention is also drawn to the punishment for fraud, punishment for	provisions of S or false statem	Section 447, secti ent and punishm	ion 448 and 449 c ent for false evid	of the Compa ence respect	nies Act ivelv.	, 2013 which p	rovide for
To be digitally signed by							
Director							
DIN of the director	467327						
To be digitally signed by							
Company Secretary				•			
Company secretary in practice							
Membership number		Certificate of prac	ctice number] .

Attachments List of attachments 1. List of share holders, debenture holders List_of_Shareholders.pdf Attach 2. Approval letter for extension of AGM; Attach 3. Copy of MGT-8; Attach 4. Optional Attachement(s), if any Attach Remove attachment Modify Check Form Prescrutiny Submit

This eForm has been taken on file maintained by the Registrar of Companies through electronic mode and on the basis of statement of correctness given by the company



		LIMITED - (LIST OF SHAREHOLDER AS ON			
		31/03/2021)			TOTAL
	ID	NAME	SHARES		TOTAL
	0000094	ABHILASHA PARKASH	18420	10	184200
2	1301240005474844	ABHISHEK KAPOOR	18420		184200
3	0000097	ACHLA KALRA	18174	10	181740
4	0000108	ADARSH BHATIA	18420		184200
5	1202540000001380	AJAY KUMAR BATRA .	18420	10	184200
6	0000124	AJIT SINGH CHAWLA	18420	10	184200
7	0000141	AMAR KUMAR AGGARWAL	18420	10	184200
8	0000055	AMIT DHIR	18420	10	184200
9	1202540000069061	AMIT SHARMA	18420	10	184200
10	0000029	ANAND PARKASH	18420	10	184200
	0000123	ANIL KUMAR AGGARWAL	18420	10	184200
12	0000037	ANITA JINDAL	18420	10	184200
13	1206620000054994	ANITA SARNA	18442	10	184420
14	0000014	ANURAG FINANCIAL SERVICES PVT. LTD.	18420	10	184200
15	0000035	ARJAN DASS GOYAL	18420	10	184200
	0000117	ARORA STOCK BROKERS LTD	18420	10	184200
	0000044	ARUNA AGGARWAL	18420	10	184200
	0000163	ASEEM GUPTA	18420	10	184200
	1202540000441343	ASHIMA GOYAL	18420	10	184200
	0000159	ASHIMA SHARMA	18420	10	184200
	1202540000354326	ASHOK KUMAR	18420	10	184200
	1202540000011817		18420	10	184200
	1202540000280330	ASHWANI KUMAR AGGARWAL	18420	10	184200
	0000161	BALDEV RAJ KALRA	245	10	2450
	1202540000376667	BHARAT CHUGH	18420	10	184200
	0000136	DAISY CHHABRA	18420	10	184200
	0000130	DES RAJ KHURANA	18420	10	184200
	0000142	DHEERAJ GHAI	18420) 10	184200
	0000130	DILIEET GARG	18420		184200
	0 0000007	DINA NATH SHARMA	122	2 10	1220
	0000120	GAGAN BHATIA	18420) 10	184200
	1202540000014174	GEETA GUPTA	18420) 10	184200
	3 1202540000014174	GOPAL DASS GUPTA	18420		184200
	1 12025400000101421	HARI KRISHAN PUNNI	18420		
	0000021	HARISH JAIN	18420		
	5 1202540000000767	HARISH KUMAR CHHABRA	127		
	7 0000009	HARJIT SINGH SIDHU	122		
	3 1202540000381962	INDU BALA VERMA	18420		
	9 1202540000381962		18420		

Corporate Office : 1st Floor, Ludhiana Stock Exchange Building, Feroze Gandhi Market, Ludhiana-141 001 Tel.: 0161-4619296, 4615397, 98726-07678, Fax: 0161-4620396.

E-mail: lsecommodities@gmail.com, lctsldh@gmail.com Website: www.ludhianacommodities.com

Regd. Office : SCO 50, 1st Floor, Sector 34-A, Chandigarh-160022



40	0000002	JASPAL SINGH	122	10	1220
41	0000082	JASWINDER SINGH KAPOOR	18420	10	184200
42	0000030	JATINDER GARG	18420	10	184200
43	1202540000000701	JITENDER KUMAR	18420	10	184200
44	0000148	KAMALIT KAUR	18420	10	184200
45	0000164	KAWITANSH KHANNA	18420	10	184200
46	1202540000001040	KAYDEE CAPITAL SERVICES LIMITED	18420	10	184200
47	0000060	KHIWANI SYAL	18420	10	184200
48	1202540000441704	KIRAN GUMBER	18420	10	184200
49	0000134	KOMAL CHUGH	18420	10	184200
50	1202540000446210	KUNAL GOYAL	18420	10	184200
51	0000006	M.A ZAHIR	122	10	1220
52	1202540000095339	MADHU BALA	18420	10	184200
	1202540000445065	MADHU SINGLA	18420	10	184200
54	1202540000000898	MAKBAN FINANCE PRIVATE LIMITED	18420	10	184200
	1202540000334088	MANJEET KAUR	3420	10	34200
56	1202540000413286	MANMEET SINGH	18420	10	184200
	1202540000437299	MANOJ KUMAR	18420	10	184200
58	0000091	MANOJ KUMAR SAINI	18420	10	184200
	0000005	MANOJ SARNA	100	10	1000
	0000133	MASTER SHARES & STOCK BROKERS LTD	18420	10	184200
	0000102	MINOTI DHAWAN	18420	10	184200
	1202540000179875	MOHIT AGGARWAL	18420	10	184200
	1202540000435629	MONIKA JAIN	18420	10	184200
	0000118	MRS.MANJEET KAUR	15000	10	150000
		MUKESH JAIN AND SONS (HUF)	18420	10	184200
	1202540000001971	MUNISH ARORA	18420	10	184200
	0000015	NAVEEN BHATIA	18420	10	184200
	0000111	NEERAJ GUPTA AS KARTA GOPAL KRISHAN & SON	18420	10	184200
	1202540000001663	NEERAJ PURI	18420	10	184200
	0000031	NLM CAPITAL SERVICES LTD.	18420	10	184200
	1202540000394283		18420	10	184200
	1202540000001395		18420	10	184200
	0000008	PARKASH CHAND GOYAL	122	10	1220
	1202540000068159		18420	10	184200
	0000150	PARVESH KUMAR SOOD	18420	10	184200
	0000098	PAWAN KUMAR JINDAL	18420	10	184200
	7 0000112	PRIYA KHATTER	18420	10	184200
	3 000017	PUNAM JAIN	18420	10	184200
	0000127	RAJAN BEDI	18420	10	184200
_	0 0000003	RAJNISH GARG	100	10	1000
	1 12025400000000091		22		220

Corporate Office: 1st Floor, Ludhiana Stock Exchange Building, Feroze Gandhi Market, Ludhiana-141 001 Tel.: 0161-4619296, 4615397, 98726-07678, Fax: 0161-4620396.

E-mail: lsecommodities@gmail.com, lctsldh@gmail.com Website: www.ludhianacommodities.com

Regd. Office: SCO 50, 1st Floor, Sector 34-A, Chandigarh-160022

Regd. Office: SCO 142-143, 4th Floor, Cabin No. 111, Sector 34-A, Chandigarh-160022.



		DAVECH CLIDTA	18420	10	184200
	0000013	RAKESH GUPTA	18420	10	184200
	0000010	RAKESH KUMAR UPPAL	18420	10	184200
	12023 (0000200	RAVI NANDAN GUPTA	18420	10	184200
	0000233	RAVINDER KUMAR BANSAL	15000	10	150000
	000001	RHEA NAGPAL	3420	10	34200
	12023 1000001010	RHEA NAGPAL .	18420	10	184200
	0000012	RICHA BAJAJ	18420	10	184200
	12023 1000001	RKG CAPITAL SERVICES LTD.	18420	10	184200
	0000156	ROMESH KUMAR GOEL	18420	10	184200
	0000149	RUCHI UPPAL	15000	10	150000
	0000071	SANDEEP KUMAR MAHESHWARY	3420	10	34200
	12020 10000	SANDEEP KUMAR MAHESWARY	18420	10	184200
	0000086	SANDHYA SOOD	18420	10	184200
	12020 10000	SANGEETA SOOD	18420	10	184200
96	0000023	SANJAY ANAND	18420	10	184200
97	0000076	SANJAY GOYAL	18420	10	184200
	0000013	SANJAY SAREEN		10	184200
99	1202540000003641	SANJEEV GUPTA	18420	10	184200
	0000167	SANJEEV KUMAR SAINI	18420	10	184200
	12023 1000020	SATISH BANSAL	18420	10	184200
102	2 1202540000312642		18420	10	184200
	0000109	SHREE DURGA FINANCIAL SERVICES (P) LTD.	18420		184200
104	4 1202540000090096	SHRIDHAR MALLAWAT	18420	10	184200
105	5 1202540000094466	SMISHTA BANSAL	18420	10	
106	6 1202540000100846		18420	10	184200
10	7 0000090	SUBHASH CHANDER JAIN	18420	10	184200
10	8 0000169	SUDARSHAN MUNJAL	18420	10	184200
10	9 0000067	SUDHIR KUMAR SHARMA	18420	10	184200
11	0 1202540000001591	SUNIL GUPTA	18420	10	184200
11	1 1202540000001488	SUNITA GOYAL	18420	10	184200
11	2 1202540000107837	SUNNY KALRA	18420	10	184200
11	3 0000140	SWASTIK MONEY PRIVATE LIMITED	18420	10	184200
11	4 0000087	TAJINDER NANDA	18420	10	184200
11	5 0000154	TEJINDER PAL SINGH	18420	10	184200
11	7 1202540000000733	TRIBHAWAN SINGH THARPAR	18420	10	184200
11	.8 0000131	TRISHUL ASSOCIATES PVT. LTD.	18420	10	184200
11	9 1202540000440090	URMIL GUPTA	18420	10	184200
	20 0000144	VANDANA KHURANA	18420	10	184200
	1 1202540000001469	VARINDER KUMAR	18420		184200
	22 1202540000002652		18420		184200
	23 0000121	VIJAY KUMAR	18420		184200
	24 1202540000066624	VIJAY KUMAR DHIR	18420	10	184200

Corporate Office: 1st Floor, Ludhiana Stock Exchange Building, Feroze Gandhi Market, Ludhiana-141 001

Tel.: 0161-4619296, 4615397, 98726-07678, Fax: 0161-4620396.

 $\hbox{E-mail: lsecommodities@gmail.com, lctsldh@gmail.com} \ \ \hbox{Website: www.ludhianacommodities.com}$

Regd. Office: SCO 50, 1st Floor, Sector 34-A, Chandigarh-160022.

Regd. Office: SCO 142-143, 4th Floor, Cabin No. 111, Sector 34-A, Chandigarh-160022.



125	0000065	VIMAL VIVEK	18420	10	184200
126	1202540000444291	VINEET SURI	18420	10	184200
127	0000152	VINIT SAKHUJA	18420	10	184200
128	1202540000335628	VISHAL JAIN	18420	10	184200
129	1202540000001264	VRS SECURITIES LIMITED	18420	10	184200
			2119275		21192750

Corporate Office: 1st Floor, Ludhiana Stock Exchange Building, Feroze Gandhi Market, Ludhiana-141 001 Tel.: 0161-4619296, 4615397, 98726-07678, Fax: 0161-4620396.

E-mail: lsecommodities@gmail.com, lctsldh@gmail.com Website: www.ludhianacommodities.com

Regd. Office: SCO 50, 1st Floor, Sector 34-A, Chandigarh-160022

Regd. Office: SCO 142-143, 4th Floor, Cabin No. 111, Sector 34-A, Chandigarh-160022